
1.2 ROW REDUCTION, ECHELON FORMS

Echelon form (or row echelon form):

1. All nonzero rows are above any row of zeros.

2. Each leading entry of a row is in a column to the right of the
leading entry of the row above it.

3. All entries in a column below a leading entry are zero.

EXAMPLE 1 Echelon form:

(i)


∗ ∗ ∗ ∗

0 ∗ ∗ ∗
0 0 0 0 0
0 0 0 0 0

 (ii)


∗ ∗

0 ∗
0 0
0 0 0



(iii)


0 ∗ ∗ ∗ ∗ ∗ ∗ ∗ ∗ ∗
0 0 0 ∗ ∗ ∗ ∗ ∗ ∗ ∗
0 0 0 0 ∗ ∗ ∗ ∗ ∗ ∗
0 0 0 0 0 ∗ ∗ ∗ ∗ ∗
0 0 0 0 0 0 0 0 0 ∗


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